i H MEE s wll % #8 e
1| 15(k) | (##A1HERT (SPI-SCOA) SHMEE | 1830 | 2140 AT F54y
2| 1112(K) [#% ) H1&FT (SP1-SCOA) it 24 FE 18:30 | 21:40 SPI-SCOA v
3 | 11/19(K) [#%#]1H1&FT (SP1-SCOA) xit SR & 18:30 | 21:40 SPI-SCOA *oo4>
4 | 11/26(:K) [#%#)TH1&FT (SP1-SCOA) xt 524 FE 18:30 | 21:40 SPI-SCOA *o54>
5 | 12/3(:K) [#%#)H1&FT (SP1-SCOA) xt S8 FE 18:30 | 21:40 SPI-SCOA vk
* [12/10(K) | [#REA)A LS4 FSPI-SCOA) 20:30 | 22:30 FRIEX v,
* [12117(R) | [#E)A 514 %ESPI-SCOA) 20:30 | 22:30 E X R o4
* | 1/7(K) [%E)A> 514 %FSPI-SCOA) 20:30 | 22:30 IVR)—2—bRR o4
6 | 1/11(L) (# A1 1% R (SPI1-SCOA) xf S % EE 10:00 | 13:10 xR C-101
* | 1/21(:k) [#EA)A > 542 & (SPI-SCOA) 20:30 | 22:30 FAEC Tos4>
* | 1/28(:k) [#EA)A > 512 & (SPI-SCOA) 20:30 | 22:30 E X R Tos4>
* | 2/4(K) [#EA)A > 512 & (SPI-SCOA) 20:30 | 22:30 SPIEE Tos4>
7 | 2/8(x) [# A1 H 1% R (SPI1-SCOA) xf S % EE 10:00 | 13:10 B i S F 5 et 5 C-101
* | 2/11(k) [#EA)A > 512 %3 (SPI-SCOA) 20:30 | 22:30 SPIEE rTos4>
8 | 2/15(x) (% A1 1% R (SPI-SCOA) xf S % EE 10:00 | 13:10 T 32 5t 5 /5 ] B oot 3R C-101
* | 2/18(:k) [#EA)A > 512 %3 (SPI-SCOA) 20:30 | 22:30 SPIEE rTos4>
9 | 2/22(x) [# £ )H 1% R (SPI-SCOA) xf S % EE 10:00 | 13:10 BEMX C-101
* | 2/25(:k) [#EA)A > 5142 %3 (SPI-SCOA) 20:30 | 22:30 BFEE xR o4
* | 3/4(K) [#EA)A > 5142 %3 (SPI-SCOA) 20:30 | 22:30 B xR o34
* | 3/11(k) [#EA)A > 512 & (SPI-SCOA) 20:30 | 22:30 B xR o4
* | 3/18(:k) [#EA)A > 512 & (SPI-SCOA) 20:30 | 22:30 B xR o34
* | 3/25(:k) (#EA)A > 512 3 (SPI-SCOA) 20:30 | 22:30 E SIS E S rTos4>
* | 4/1(K) [#EA)A > 5142 %3 (SPI-SCOA) 20:30 | 22:30 FAEC o4
* | 4/8(K) [#EA)A > 542 %3 (SPI-SCOA) 20:30 | 22:30 E X R o34
* | 4/15(:k) [#ZEA)A > 512 %3 (SPI-SCOA) 20:30 | 22:30 E X R v




